DU MA Political Science

Topic:- DU_J19_MA_PS
1) Which of the following statement is correct with regard to Raja Rammohan Roy?

AT AR WA P IR H rfafad § | B A1 wuE w9E 87
[Question ID = 3044]

e & arfideg o faward

1. Belief in the existence of the soul / [Option ID = 12174]

TF qreHifie watem g ¥ favarg

2. Belief in one Universal Supreme Being / [Option ID = 12173]

U & 918 oflegq W fawary

3. Belief in life after death / [Option ID = 12175]

SuRTed T _
4. All of these / [Option ID = 12176]

Correct Answer :-

. _ _UE wrdife wated war | fowam
« Belief in one Universal Supreme Being / [Option ID = 12173]

2) Which of the following books described state power in India as occupying a continuum with “centralisation and
concentration” at one end and “decentralisation and pluralism” on the other?

frrafafRa & & i @ Tras 5Ra F Tod AT F1 IoieT FI G TE Feell § 6 T8 0 3R Fedieor 3R whaor A g@dy iR Rdedieor 3k
TgAAE” & WiaeaF (FedgH) # yafeua 2

[Question ID = 26101]

3 WRYsC JF el

1. In Pursuit of Lakshmi / [Option ID = 44399]

Sfeama uifcfewma soMAM], 1047—1977— T e RaraE=

2. India’s Political Economy, 1947-1977-The Gradual Revolution /
[Option ID = 44402]

3. The Political Economy of Development / g Ulfefesa FRIMHT 3ATH iéﬂE THE [Option ID = 44401]
T W Ug ulad 39 gfean

4. The State and Poverty in India / [Option ID = 44400]

Correct Answer :-

29 WHzc 3ifp ol
« In Pursuit of Lakshmi / ~ & [Option ID = 44399]

3) Which of the following does not figure in Almond & Verba'’s classification of Political Cultures?

frfafaa 4 9 amse ok 79 g I e | @ afieeer § A9 el o 27

[Question ID = 3051]

Aol ] A 1T
1. Evaluative orientation / [Option ID = 12203]
- E

2. Cognitive orientation / [Option ID = 12201]

3. Affective orientation / i [Option ID = 12202]

4. Empirical orientation / [Option ID = 12204]

Correct Answer :-

srprarg AT

« Empirical orientation / [Option ID = 12204]



4) Which one of the following is a transformationalist view of globalization:

frafefiaa & § o dedisw o1 oRadTardt gies 27

[Question ID = 24102]

1. Globalisation is not leading to the withering away of nation states rather to the emergence of a conspicuously global politics in which the
traditional distinction between domestic and international affairs is not enough meaningful. / 3Sd1eIoT & HROT IASC-ITAT HT &TUT 78T &l ET §,
afes T i Afaw Ttehfer 7 362 81 T ¢, Foraet 319 aXe] 3R 3TeRT~Er ATt % TRuR 3R 31 Sga ST ST ¢ 6 I § [Option
ID = 36409]

ediHNT B BN WY TS BT &N 5 5T B

2. Globalisation is bringing about the demise of sovereign nation-state / [Option ID
= 36405]

3. States and geopolitics remain the principle forces shaping contemporary world order. /

o SR q—wreier ST T GRETeH 9 @A ®1 AEN o7 arell g iedat 99 g8 [Option D = 36406]
4. Geopolitics, state power, nationalism and territorial boundaries are of growing, not less, importance in world politics. /

g Torifa # T, 98 91, TgaE AN J-#S" AWl $1 75cd $F T8l BT ©, dfeh 5O gl

il @ % [Option ID
= 36407]

Correct Answer :-

» Globalisation is not leading to the withering away of nation states rather to the emergence of a conspicuously global politics in which the
traditional distinction between domestic and international affairs is not enough meaningful. / sdOT & FRUT ASC-ITSAT ST &TROT oTe &F T@T
g, gl uw 0 AT T FT 3T AW &, I mmﬁmmﬁmmma@mmﬁmaﬁmm}%
[Option ID = 36409]

5) Which one of the following is not a text related to Classical Realism?

e & ¥ i @ TFas Fonfee gariar § w6 78 §2

[Question ID = 26125]

giferfeed =T F3rd
1. Politics among Nations / [Option ID = 44498]
2RET A U= uTaw uifeiess
2. Tragedy of Great Power Politics / [Option ID = 44496]
= g
3. The Prince / [Option ID = 44497]

4. The Peloponnesian War / T Ul aR [Option ID = 44495]

Correct Answer :-

2fEET &iF Ue gigy uiferesd
» Tragedy of Great Power Politics / [Option ID = 44496]

6) Which among the following can be associated with Aurobindo’s beliefs?

f=fafaa & 9 fe orfiT @ RQuardl @ wreT o S 27

[Question ID = 26111]

1. His conviction that he did not regard the country as an inert object, but as Mother / 3=ehT I T&-Tsudr & d ger 1 T TATShT a&] =Ag! sfesh
AT AT [Option ID = 44441]

2. His resolve that he would not merely repeat the name of God, but have direct realisation of Him / 3sTeT I8 To-Tasag ¥ § &7 [t eav & =1
Y QTG Afedh IHRT YeaT i3 8 Tar [Option ID = 44440]

3. That his education and talent belong to God which could be utilised for personal happiness alone / T 3=Tehr frea 3R ufds Seax & Gefaa &
TRt 3uaiter [t safedera el & forw faam S @ehar & [Option ID = 44439]

4, All of these / 3URIFd THT [Option ID = 44442]

Correct Answer :-
o All of these / 3uRierd @8 [Option ID = 44442]

7) “I do not wish them (women) to have power over men; but over themselves.” These words are attributed to which of the
following thinkers?



“H TE aed) & 5% (Afeeme &) qewl W wfed @ W afew F aed € 5 9 ge W
wifer urer &1 i | 3 v ffaRaa d @ few faewe 9@ og g €

[Question ID = 26108]

1. Hannah Arendt / &1 3Re [Option ID = 44430]

2. Mary Wollstonecraft / #3 dreaeistshiae [Option ID = 44429]
3. J.S.Mill / &Y. wa. f&er [Option ID = 44428]

4. Simone de Beauvoir / &I g S1331R [Option ID = 44427]

Correct Answer :-
- Mary Wollstonecraft / & drewelashire [Option ID = 44429]

8) Atul Kohli links his “crisis of governability” thesis to which of the following reasons:-

e BIge] A9 U @ Hehe” (PR e TaAafad)) of i o fAEfafaa § 9 fea sreil 9 aer
#7
[Question ID = 3020]

R R J FFE AR Fad 1 TR FHR

1. Pressing problems of law & order all over India / [Option ID = 12077]

HIH Aqca BT G
2. Insecurity of the Congress leadership / [Option ID = 12078]
A AT E—3 aﬁ werfer
3. Unequal socio-economic conditions / & [Option ID = 12080]
PHIE BT GISAHD &Y
4. Organisational decline of the Congress / =l ik [Option ID = 12079]

Correct Answer :-

HIIH HT WSHHS &
« Organisational decline of the Congress / w Lk [Option ID = 12079]

9) Communitarians argue that:-

HAEEE! O& od & & -

[Question ID = 3032]

e B AT ¥ ydar e @ty
1. Communities must take precedence over nations / [Option ID = 12125]

2. Communal thinking is morally wrong / i AR %
JuNigd A | iz A2l

3. None of these / [Option ID = 12128]

Jerae AHEd® qerdl ®1 SUsl T 8
4. Liberalism devalues communal attachments / [Option ID = 12127]

[Option ID = 12126]

Correct Answer :-

TaRAE GRS SSTa B SUET BT 8
o Liberalism devalues communal attachments / [Option ID = 12127]

10) Hanafi, Hanbali, Shafii and Maliki are Islamic:-

I H B9, BT, WeThT SR mifee) @ €
[Question ID = 3045]

1. Sect-based Identities / E [Option ID = 12179]

aifife araer
2. Religious practices / [Option ID = 12180]

. - ST gE T .
3. Ethnic Identities / [Option ID = 12178]

4. Juridical Systems / " [Option ID = 12177]



Correct Answer :-

NRITY
« Juridical Systems / [Option ID = 12177]

11) Positive Liberty implies that:-

HHRIAE wqd=adr &7 aef 8

[Question ID = 3030]

ORI T

1. All of these / [Option ID = 12120]

T @ offes # 9EN g9 & o wu gE B gaar 2

2. The state can make interventions for betterment of lives /
[Option ID = 12119]
3. One must be free to do things one considers positive /

<t afd &1 9 &M S &1 aendl 841 Afe = 98 Wened AEar @
4. There must not be any constraints on the freedom of thought /

fRfas @7 arendT wR fed avE &1 $I1F uftEy L A wfe

[Option ID = 12117]

[Option ID = 12118]

Correct Answer :-

i & flaq & d8a8 99 & foU wSu g5 &Y gddr 2

« The state can make interventions for betterment of lives /
[Option ID = 12119]

12) Identify the incorrect pair

[Question ID = 3067]

el e i g U8
1. Political Development—Lucian W. Pye / [Option ID = 12268]

foafar fagio— v ol we
2. Dependency theory—A.G.Frank / [Option ID = 12266]

3. Civic Culture—Sydney Verba /"”JI Ieep Nueqld— A=l aqt [Option ID = 12265]

I TERT gt e w

4. Modernization theory—Amartya Sen / [Option ID = 12267]

Correct Answer :-

o IS ET fagia— e w1 _
* Modernization theory—Amartya Sen / [Option ID = 12267]

13) Rousseau’s idea of “perfectibility’ entails which of the following ideas?

w4 BT qoiar 3 arar (haeffard) @ fear F frafafag 4 ¢ o= wfufag 22
[Question ID = 3024]

1. Men are essentially good natured / 1 il © v RETE
qs Bl gifﬁllﬁ' T
2. Men have no basic essence / aﬁg . m _g
ST F B T (00 10 = 12006]
T @Y ghfa g vu @ gf @

4. Nature of man is essentially bad / [Option ID = 12093]

[Option ID = 12094]

[Option ID = 12095]

3. None of the above /

Correct Answer :-
14) “If I was asked to name any particular article in this Constitution as the most important- an article without which this
Constitution would be a nullity— I could not refer to any other article except this one.” — Ambedkar was referring to which



article?

FsHy 7 59 I & IR | 9% $E U IR Ao Wu & 59 @Y eregE &1 T o @ forg
HET I, U U S ferae sy Gieus weE 8 wom— a9 # Bl o e $ a9 w9
FTE BT AW war|”

[Question ID = 3007]

3T 21

1. Article 21 / [Option ID = 12025]

AT 15

2. Article 15/ [Option ID = 12026]
) 3*1?/§§ 32 .
3. Article 32 / [Option ID = 12027]

16
4. Article 16 / [Option ID = 12028]

Correct Answer :-

ﬂﬂaja 32
« Article 32/ [Option ID = 12027]

15) The thought that the ‘advent of technology and industrialisation is the basic cause of human misery in modern society’ can
be attributed to which of the following thinkers?

gz faer f&g fdare | o1 g 9 W1 WHar 2 f& omfe v § aeie SR sfteriEwer &
IHd §F BT I BRYT 27
[Question ID = 3046]
1. Bal Ganghadar Tilak / Ll a [Option ID = 12183]

AT T:Fg"m'l Mg
2. Gopal Krishna Gokhale / [Option ID = 12184]

TRl AR

3. Rabindranath Tagore / [Option ID = 12181]

. B, e

4. M.K.Gandhi / [Option ID = 12182]

Correct Answer :-

. MKGandhi/ % &, TS [Option ID = 12182]

16) The “"Block Vote System” is also known as:-

[Question ID = 26122]

1. Proportional representation / 3TejdTfeish Yicifeifeiea [Option ID = 44485]

2. List system / (=T YoTrelr [Option ID = 44486]

3. First-past-the-post system / 373IaT & faSiaT (FEE e &-diee faTe#) [Option ID = 44483]
4. Limited vote system / EifAd #d Jomell [Option ID = 44484]

Correct Answer :-
« First-past-the-post system / 3731 & fa=idar (S uTEe g-uiee fATes) [Option ID = 44483]

17) “He is the head of the state but not of the executive. He represents the nation but does not rule the nation”. Who among the
following made this comment about the President of India?

“TE YT BT AT B, dif SIEuIersT S T8l 98 e &1 gate B, oifeT W o e et | 9 e
qNd & Ay » a) | gg el 1 8

[Question ID = 3104]

H AN RS

1. B.R. Ambedkar / [Option ID = 12413]



WER 9ed )
2. Sardar Patel / [Option ID = 12415]

3. Maulana Abul Kalam Azad / 3 [Option ID = 12416]

4. Jawaharlal Nehry /e venel TEE o ion 1D = 12414]
Correct Answer :-

41 ¥R FeEEY _
« B.R. Ambedkar / [Option ID = 12413]

18) Deliberative democracy is the idea that:-

famefl SArpds 98 faaw & & -
[Question ID = 3034]

, o , At & €9 o gefledRl &1 999 @ 9N | foan—faust g1 anfau
1. People must deliberate their choice of candidates /
[Option ID = 12134]

i frar—famst ok are—faare & are favfg forr o= anfen

2. Decisions must follow reasonable discussion and debate /

[Option ID = 12135]
I BT HA AR A S @Ey

4. Preference must be aggregated / [Option ID = 12133]

3. Dissent delivers bad democracy / [Option ID = 12136]

Correct Answer :-

afee faan—faast st ae—faare & T15 vl for o= @fay
» Decisions must follow reasonable discussion and debate /
[Option ID = 12135]

19) Article 371 A of the Indian constitution provides special protections to which of the following states:-

IR e arEee 371v Feafale 5 © 59 oo ot gy g o=t 9 @ -
[Question ID = 3103]

IEE N FeTery

1. Assam and Meghalaya / [Option ID = 12410]
2. Maharashtra and Gujarat / R 3t I [Option ID = 12409]
3. Jammu and Kashmir / O, HY TR [Option ID = 12411]

fi = .
4. Nagaland / [Option ID = 12412]
Correct Answer :-

Ei = .
« Nagaland / [Option ID = 12412]

20) Who defined Development Administration as “action-oriented, goal-oriented administrative system”?

et e vt i aRem “F-rfeE, Ta-3fee werafaE saaea” & 59 # 1 §2 [Question ID = 26117]

1. Fried W. Riggs / WIES Swy, N [Option ID = 44463]

2. Dwight Waldo / =1 [Option ID = 44464]

Usdg digs-d
3. Edward Weidner / [Option ID = 44466]

v v

4. Robert Dahl / [Option ID = 44465]

Correct Answer :-

Ugds digs-Y
» Edward Weidner / [Option ID = 44466]



21) Who among the following termed the four different bases of an Organisation as Four (4) 'P's?

Fr=fafiad 7 9 e 984 @ 3R amR & 9 (@) fT @ $u | du fear?

[Question ID = 3062]

1. Henry Fayol / [Option ID = 12247]
2. L.D.White /W' R EE [Option ID = 12246]

Eﬁﬁ I [Option ID = 12245]
ESCCA I FUE]

3. Luther Gullick /
4. Herbert Simon / [Option ID = 12248]
Correct Answer :-

R TfeTd
o Luther Gullick /EL% [Option ID = 12245]

22) Who among the following describes India as a “polycentric hierarchy”?

fArfaf@a # & fras s 1 aufer o “agahedl TewIaT (TR gravrhl) & ou & frar §2
[Question ID = 26096]

1. Aseema Sinha / 318TAT f&=gT [Option ID = 44380]
2. M. P. Singh / wa. 91, f&% [Option ID = 44382]

3. Douglas Verney / S3Te/F gsit [Option ID = 44379]
4. Paul Wallace / dfel doiF [Option ID = 44381]

Correct Answer :-
« Aseema Sinha / 3/TAT f&=@T [Option ID = 44380]

23) Who among the following is considered to have inaugurated the liberal-reformist modernisation of India?

fFefeied o 9 foae IR | g8 791 Wi § {6 SEH ARG § SeR—ERas] ARHEIDReT B e
17

[Question ID = 3042]

AT AR I
1. Raja Rammohan Roy / [Option ID = 12167]
2. Sri Aurobindo / A1 [Option ID = 12168]
3. Rabindranath Tagore / [Option ID = 12165]
gfhd @
4. Bankim Chandra Chatterjee / [Option ID = 12166]
Correct Answer :-
AT AR T
« Raja Rammohan Roy / [Option ID = 12167]

24) Who among the following identified the Indian state as interchangeably “weak” and “captured”?

fforiag # 9 e ARd ™ g ©1 U89 Seo—asddy @AuR AR AR (§we) © ©9 H 31
27

[Question ID = 3019]

g q atg
1. Pranab Bardhan / [Option ID = 12073]

Ed
2. Pradeep Chhibber / [Option ID = 12076]

qrofg

3. Ashutosh Varshney / [Option ID = 12075]



el BIEA]

4. Atul Kohli / [Option ID = 12074]

Correct Answer :-

~

e Atul Kohli / [Option ID = 12074]

25) Who coined the terms, “Party of Consensus” and “Parties of Pressure”?

fafaftag # 9 foue “ammaeafd & 0 3N "SEEl & T Yedd] & 999 Ugd 9anT fhar?
[Question ID = 3016]

ESRIEL
1. Bruce Graham / [Option ID = 12064]

T b
2. Francine Frankel / [Option ID = 12063]
3. Myron Weiner / RESHCISH [Option ID = 12061]

4. Rajni Kothari / [Option ID = 12062]

Correct Answer :-

« Rajni Kothari / [Option ID = 12062]

26) In which of the following years was the Central Vigilance Commission established by the Government of India?

Praafla # & 5 a¥ RT TNFR @R Fdg IR 3T 1 Fa9=T ¥ =012 [Question ID = 26115]

1. 1961 [Option ID = 44455]
2. 1964 [Option ID = 44456]
3. 1967 [Option ID = 44457]
4, 1991 [Option ID = 44458]
Correct Answer :-

« 1964 [Option ID = 44456]

27) The institution of Ombudsman was first established in 1809 by which of the following countries?

frfofea 7 9 59 9 8 999 U2 1809 H ATHEERH &1 wRi Rifyd &7 Tl of?

[Question ID = 3057]

1. Switzerland / : [Option ID = 12228]

2. Sweden / [Option ID = 12227]

3. United Kingdom / 1‘ [Option ID = 12226]
4. Denmark / [Option ID = 12225]

Correct Answer :-

* Sweden / [Option ID = 12227]

28) Who coined the phrase, “iron law of oligarchy”?

“edd ® Wi e @ g e e

[Question ID = 3069]

I ER ]
1. Sydney Verba / [Option ID = 12274]



)

2. Harold Lasswell / [Option ID = 12276]

et
3. Vilfredo Pareto / [Option ID = 12273]

[} e

. HECAEEE .
4. Robert Michels / [Option ID = 12275]

Correct Answer :-

. e fEiem .
« Robert Michels / [Option ID = 12275]

29) What is the correct sequence of Morton Kaplan’s model of systems analysis?

i. Balance of Power
ii. Loose Bipolarity
iii. Tight Bipolarity
iv. Universal International System

Tl v & TR # AeT Siue © Atgd S Wel 3FpHA 94T 87

1. =T &1 gqe
2. ol fegdran
3. W fegdran

4. wEEIES AT SR

[Question ID = 3074]

1. iv, ii, iii, i [Option ID = 12295]
2. i, i, iii, iv [Option ID = 12296]
3. iii, iv, ii, i [Option ID = 12294]
4. iv, iii, ii, i [Option ID = 12293]

Correct Answer :-

« i, ii, iii, iv [Option ID = 12296]

30) Frederick W. Taylor's concept of "Mental Revolution” stands for:-

AFS Fi | AT BeRe S=9 SR @1 JgERI Hed #

[Question ID = 3060]

1. Restricted Output and Cooperation / [Option ID = 12238]

_ _ areferawern, Hean R fafag fed _
2. Economy, Cooperation and Restricted Output / [Option ID = 12240]
3. Cooperation, Harmony and Restricted Output / Hedll, HHWIH 3ﬂq NEIEDR MR [Option ID = 12237]
4. Harmony and Cooperation / 34‘?? [Option ID = 12239]

Correct Answer :-

T 1
« Harmony and Cooperation /\J'-li‘ll-w'%'EI SI HEsl [Option ID = 12239]

31) The philosophy of “dependent origination” can be attributed to which of the following traditions?
‘frf Sl @ v @ FEfafeg 9 9 fee oo 9§ Srer o gean 87
[Question ID = 3040]

1. Ajivikas / [Option ID = 12160]



CIEGEIE

2. Brahmanism / . [Option ID = 12159]
S e
3. Jainism / [Option ID = 12157]
£]
4. Buddhism / [Option ID = 12158]

Correct Answer :-

B L _
« Buddhism / [Option ID = 12158]

32) Identify the correctly matched answer:-

A. Geneva Protocol i) Reduces Strategic Arms

B. Nuclear Non-Proliferation Treaty i) Limits spread of Nuclear Weapons
C. INF Treaty iii) Bans use of Chemical Weapons

D. START I Treaty iv) Bans two categories of land-based missiles

e e ¥ wEfed sr Y 9= #ifg

A. wiFar wieieid 1) wrifas 9=t H FHeld)

B. wwmy frerefieer | 1) oerm =Rt © g W dE a

C. srdrws 2 111) v RN @ 99T W gfaey
D. wF —1 & iv) 5y amnRe freet 1 S SRR R aE

[Question ID = 3088]

1. A-i; B-ii; CHiii; D-iv [Option ID = 12349]
2. A-iv; B-iii; C-ii; D-i [Option ID = 12350]
3. A-ii; B-iii; C-i; D-iv [Option ID = 12352]
4. A-iii; B-ii; C-iv; D-i [Option ID = 12351]

Correct Answer :-
o A-iii; B-ii; C-iv; D-i [Option ID = 12351]

33) M.M. Punchhi Commission was constituted to review which of the following:-

THUH, gET oA fefeliad 7 9 fewas! W iem &3 @ forn wfea g T e
[Question ID = 3010]

1. Centre-state relations / . [Option ID = 12039]

2. Reorganisation of States / L E [Option ID = 12037]

. . PRIRIEED ﬂa i .
3. Administrative Reforms / [Option ID = 12038]

aeetoT iferar

4. Reservation Policies / [Option ID = 12040]
Correct Answer :-
« Centre-state relations / R [Option ID = 12039]

34) The Duverger-Riker model tries to establish link between which of the following:-

saoR-{aR Afser Peafaf@a # & Rt Je1e TaRia ¥ &1 999 F3a1 8: [Question ID = 26098]

1. Electoral system and caste mobilization / F=TdY saa€T 31 SfciareT oTAsEr [Option ID = 44388]

2. Party system and electoral system / &t ga&dT iR YT egawT [Option ID = 44389]

3. Fundamental Rights and Directive Principles / #ifale 31f8sR 3R Sifd Sewe RA<ia [Option ID = 44387]
4, Federalism and Party system / TeraTe 31X geliar saaT [Option ID = 44390]

Correct Answer :-



+ Party system and electoral system / &g sga&T 3R FoArell saa€AT [Option ID = 44389]

35) "Life is not determined by consciousness but consciousness by life”. The line relates to:-

“fAT T W q9 8] Bl &, dfed dadT faedl ¥ 99 Bl 87 | 98 199 Hard ® ¢
[Question ID = 3028]

IuRied 9t

1. All of these / [Option ID = 12112]

2. Marx'’s critique of idealism / W @1 Iﬂ—‘ﬂ:f &1 AHRT
el &7 99 (i) &1 Mgia

[Option ID = 12111]

3. Plato’s theory of forms / [Option ID = 12110]

(nveTed) g wiel &1 3l

4. Aristotle’s criticism of Plato / 1 [Option ID = 12109]

Correct Answer :-

aesiare @1 At B THE

* Marx’s critique of idealism / [Option ID = 12111]

36) Which of the following is false for Marx:-

AgE ® IN H FAfaiEd § 9§ i Tod §
[Question ID = 3027]

1. Capitalism does not lead to commodity fetishism / LtTeTe <l et wiefs (GERERNCE }ﬁm:ﬁﬁﬁ e &

[Option ID = 12107]

T — .
2. Capitalists also suffer from alienation / Li‘u‘ilblh‘l 1 ST BT AHEA ?\.’

o _ YdlTETE eTd 9 el &
3. Capitalism produces alienation /

<=1 |ffed gl 2

4. Consciousness is embodied / [Option ID = 12105]

[Option ID = 12106]

[Option ID = 12108]

Correct Answer :-

tofare e Biefied (As—avgesen) &1 iR T8 of Wl 8

« Capitalism does not lead to commaodity fetishism /
[Option ID = 12107]

37) “Each of them by himself may not be of good quality, but when they all come together is possible that they may surpass—
collectively as a body, although not individually-the quality of the few best...and when they all meet together, the people may
thus become something in the nature of a single person...”. In these lines,:-

“IE AR A A TRF F U ISB AU A, AT T I F AT AN A T AT F I wFa Fsw A At aw o e F sw A
UERF ¥9 §, TO TaW e Al & o ¥ 3 1 FF ... T 3 vF wry e § a welt A v s safFa B vl B oave o wwa
£....”1 g7 ufFaal # [Question ID = 26103]

1. All of these / 39t T4 [Option ID = 44410]

2. Hobbes is propounding his idea of Commonwealth / 8Te8 319eT HHAIEY & Fa€R FEJd F g & [Option ID = 44408]

3. Rousseau is enunciating how a corporate body possess General Will / &&T Ig wfadied a1 1@ & & T& skuRe AT & urg g kg a3
FToT gia § [Option ID = 44407]

4. Aristotle is advocating for the Polity as a rule of the Many / Sgcl @ilalT o STHT & ¥4 # 3R&] (TRESTee) TferéT i RPery & ¢ & [Option ID =
44409]

Correct Answer :-

« Aristotle is advocating for the Polity as a rule of the Many / SE @191t & STHeT & ¥ & 37&] (ufkeeice) qiferdT dr axweRT &1 I} & [Option
ID = 44409]

38) Match the following

Thinker Types of Realism
a. Kenneth Watlz i. Offensive Realism
b. John J. Mearsheimer ii. Neo-classical Realism

c. Fareed Zakaria iii. Classical Realism




|| d. Hans Morgenthau iv. Neo Realism

farafafaa « Aemsv:

[EEIECD JUTHATE F GHR

a. $aY dlecs i. 3RS TUTdaTE

b. ST ot HrgeffaT ii. g-FoTTAee TATHATG
c. TG ST iii. FofAer FUTIaTE
d. g5 #Arfears iv. a-TUTdarg

[Question ID = 26034]

l.a-iv, b-i, c-ii, d - iii [Option ID = 44132]
2.a-iii, b-ii, c-i,d - iv [Option ID = 44134]
3.a-ii, b-iii, c - iv, d - i [Option ID = 44131]
4.a-i,b-iii, c - iv, d - ii [Option ID = 44133]

Correct Answer :-

e a-iv,b-i,c-ii, d - iii [Option ID = 44132]

39) Match the following:

a. Theory of two wheels i. Kabir

b. Doctrine of Mandala ii. Buddhism
C. Syncretism iii. Manu

d. Dharmasastra iv Kautilya

farafaf@a # gafaa A ik 7@ Reew w1 gae Ao

a. ar ufgat & fagia i. SeIT
b. Az Rgia ii. Stg et
C. GHTaIAE i, 71
d. g iv. FifeeT

[Question ID = 26035]

1.a-iv, b-ii, c-iii, d - i [Option ID = 44138]
2.a-iii, b-iv, c-ii, d - i [Option ID = 44137]
3.a-ii, b-iv, c-i,d-iii [Option ID = 44135]
4,a-i,b-iv, c-ii, d - iii [Option ID = 44136]

Correct Answer :-

e a-ii,b-iv, c-i, d - iii [Option ID = 44135]

40) Match the authors with their works

A James Scott i Perce_ption and Misperception in International
Relations

B Robert Jervis ii Seeing Like a State

C Ernest Gellner iii The Great Transformation

D Karl Polanyi iv Nations and Nationalism

T dus! &1 398 Tt & wrr A w3

A ST THIC i AT U8 FATRIARNA 5T Se12AeT Roldd




B qae kg ii Hif¥er amse v e
C 3tefEe AR i g JT grapiaeT

D ol Tt iv AAA TS AT
[Question ID = 26036]

1.a-ii,b- i,c-iv, d-iii [OptionID = 44140]

2.a-iii,b- iv,c-i,d-ii [Option ID = 44142]
3.a-ii,b- i, c-iii,d-iv [OptionID = 44141]
4.a-i,b- ii,c-ii,d-iv [Option ID = 44139]

Correct Answer :-
e a-ii,b- i, c-iv,d-iii [OptionID = 44140]

41) Structural-Functionalism is primarily:-

TYEATcHG—draare TRIfe $0 4 & -

[Question ID = 3049]

fa@ra &1 Te faamem

1. An ideology of development / [Option ID = 12194]

I &1 Tdh YUl

2. A method of governance / [Option ID = 12196]
S| &1 TF TNl
3. A framework of investigation / [Option ID = 12195]

4. A measurement for comparison / [Option ID = 12193]

Correct Answer :-

E B s Sl
« A framework of investigation / [Option ID = 12195]

42) Structural-functionalism by Almond and Powell was an application of:-

AHS AR dldd & FTER AEHe—yards Frfafeag 4 4 &9 anp s 2

[Question ID = 3052]

IR U BT AR IeRT Righa

1. Lucian Pye’s Modernization Theory / [Option ID = 12207]
Slel o1 dgaad (Ulel ) _

2. Dahl’s Polyarchy / [Option ID = 12206]

Agfe o1 IEld a1 fHgT

[Option ID = 12208]

A e FGRI B 332 &1 DUNE
4. Easton’s framework of Political System / [Option ID = 12205]

3. Rostow’ Theory of growth /

Correct Answer :-

N IS ARl BT 3929 & TEl
« Easton’s framework of Political System / [Option ID = 12205]

43) The core elements common to both classical and structural realism are:-

FeATNIRol SN EY=Icae guRiae & e $<1g o9 &

[Question ID = 3082]

) REREIES .
1. Statism / [Option ID = 12325]

e
2. Survival / [Option ID = 12326]
EREICE GGl
3. All of these / [Option ID = 12328]
H—TETIdr

4. Self-help / [Option ID = 12327]



Correct Answer :-

TN T
o All of these / [Option ID = 12328]

44) Which environmental Convention was adopted for the protection of Ozone layer:-

A WG B GET & o e vafaeft gester S e T

[Question ID = 3093]

S

1. Stockholm Convention / [Option ID = 12372]
2. Montreal Protocol / [Option ID = 12371]
3. Basel Convention / [Option ID = 12370]
formr et
4. Vienna Convention / [Option ID = 12369]

Correct Answer :-

) . CEEIREEIE .
« Vienna Convention / [Option ID = 12369]

45) M.K.Gandhi wrote editorials for the first time in which one of the following journals ?

. F. e F @ & gew vga R et F g forar ?

[Question ID = 26112]

1. Samvad Kaumudi / SEICECH 5:“ [Option ID = 44445]
SIRISIUE]

2. Indian Opinion / 2 [Option ID = 44443]
I gfean

3. Young India / [Option ID = 44444]

4. Calcutta Journal / SENIRSRE [Option ID = 44446]

Correct Answer :-

. Indian Opinion / B [Option ID = 44443]

46) Rawls introduces the ‘veil of ignorance” because:-

Yfexd ‘3= &1 Ut &l WHA o § it

[Question ID = 3033]

[T 299 €1 T 91 Wie ¥ IARY g1 9ifRu

1. Any contract must always start from a blank slate / [Option ID = 12130]

IurET T

2. All of these / [Option ID = 12132]

I8 Urafas srawen § @ @) Rufa & w99 e @

3. It is closest to how people were in the state of nature /

12129]
I8 [ATTEgaT qfbddl B WeH P BT AT #

[Option ID =

4. It is a device to eliminate bias in reasoning / [Option ID = 12131]

Correct Answer :-

« Itis a device to eliminate bias in reasoning / g E gaﬁ LoBi b LaRE @ [Option ID = 12131]

47) Match the thinkers with their ideas:

Idea Thinker

a. Application of Vedanta to the everyday life of

the common man I M.K.Gandhi

b. Application of the criteria of reason and social

utility to sacred texts ii. Pandita Ramabai




c. Criticism of modernity iii. Swami Vivekananda

d. Advocacy for the admission of Women to

Medical Colleges iv. Rammohan Roy

Frfaf@a Ras 31T 30 fER # fas:

AR ZAds

a. 3T A & ASTFRT & ST 7 deiar T JIaT i, T, &, AT

b. gfaT It 7 fage 3R arenfae sufaar & saifeat i ;

T 9T

C. 3T Fe¥ehell T 3TeeraTr iii. FET fadehTeieg
d. ASF FHlorell F AR F w3 FHr gHrad iv. THAET AT
Codes/fa®eu:

[Question ID = 26092]

1.a-iii, b-i, c-iv, d - ii [Option ID = 44365]
2.a-iii, b -1ii, c-i, d-iv [Option ID = 44366]
3.a-iii, b-iv, c-i, d - ii [Option ID = 44363]
4.a-i,b-iv, c-ii, d - iii [Option ID = 44364]

Correct Answer :-
e a-iii, b-iv, c-i, d-ii [Option ID = 44363]

48) Match the following and mark the correct answer:-

A. J. Ann Tickner i) Post-colonial feminism

B. Cynthia Enloe i) Reformulation of Morgenthau's Six Principles
C. Sandra Whitworth iii) "Where are the Women*?

D. Chandra Mohanty iv) Feminist Critical Theory

fFreferfiag & ey s |92 9= 97T

A. S fRewR i) Tt B

B. Riforar gieia ii) Repteefeter aifp wrivemssr Rrew Rikmew
C. dgr e iii) ‘dav @R T

D. o7 " iv) B frfeea Rrd

[Question ID = 3086]

1. A-i; B-ii; C-iii; D-iv [Option ID = 12342]
2. A-iv; B-i; C-ii; D-iii [Option ID = 12344]
3. A-iii; B-ii, C-iv; D-i [Option ID = 12343]
4. A-ii; B-iii; C-iv; D-i [Option ID = 12341]

Correct Answer :-

« A-ii; B-iii; C-iv; D-i [Option ID = 12341]

49) Match the words with their meaning:

a. Matsyanyay i. The law of abnormal times
b. Apaddharma ii. Intending conqueror

c. Vijigshu iii. Cosmic law

d. Riti iv. Law of fishes




frafaf@a el # Premge sik wét fwew w1 gomg A

1. ACET =g i, 3HT AT & [IH

2. ATEEsT ii. gTged f&siar

3. fafSrery iii. SE-ATONT ATH (FITeAS o)
4. 9f iv. AGET & T Td
Codes/fa®eq:

[Question ID = 26093]

l.a-iv, b-i, c-ii, d-iii [Option ID = 44368]
2. a-iii, b-ii, c-i, d - iv [Option ID = 44370]
3.a-ii, b -iii, c - iv, d - i [Option ID = 44367]
4.a-i, b-iii, c-iv, d - ii [Option ID = 44369]

Correct Answer :-
e a-iv,b-i,c-ii,d-iii [Option ID = 44368]

50) “Greatest benefit to the least advantaged” is associated with which of the following?

“gierersr Feufer arer safa 1 rftrsrasr amer” fawafaf@a # & fress T 5731 §31 §2 [Question ID = 26107]

1. The Communist Manifesto / & #&gferee Afatheer [Option ID = 44423]

2. None of the above / 3TRIFd & & HI$ 7T [Option ID = 44426]

3. Rawls’s theory of justice / Ied T =a1F &1 AT [Option ID = 44425]

4. Aristotle’s distributive justice / 3 T&] &1 fqeRoTcA® =17 [Option ID = 44424]

Correct Answer :-
« Rawls’s theory of justice / U &1 =11 &1 A€ [Option ID = 44425]

51) IMG

Match the works in list | with the authors in list Il

LIST-I LIST-II

a. Hindu-pad-padshahi 1. V.D_ Savarkar

b. Wheel of History ii. Pandita Ramabai

¢. Tuhfat-ul Muwahhiddin li. Raja Rammohan Roy
d. The High Caste Hindu Women iv. Rammanohar Lohia

T | F gt B | S et @ e

T T

a. ffg—ue—ur=endl il &1 e
b. &l aiTe faw ii. ufgar vmare
¢ qEha—9d JREeeH iii. JMAT AR Y

d. T ¥ @re fig 9 iv. IEFEAIER g




[Question ID = 26109]

1.a-i,b-ii,c-iv, d - iii [Option ID = 44434]
2.a-i,b-iv, c-ii, d - ii [Option ID = 44432]
3.a-iii, b-ii, c-i, d - iv [Option ID = 44431]
4.a-iv,b-ii,c-i,d - iii [Option ID = 44433]

Correct Answer :-
e a-i, b-iv, c-iii, d - ii [Option ID = 44432]

52) Who among the following considered democracy as nothing more than periodic elections and ordinary citizens, beyond the
act of voting, should have no role in shaping policy?

frraferfag # | ®i9 g5 wFar € & diead te FlkEg aef & 912 89 o goal & aaRed €9 981 g B, 3k
HEN ARG & 96 9% die 39 @7 affier wiar &, Fiftal f daR B H g1 Si3 HEeT T8 Bl 27

[Question ID = 3072]

FEE Q. IR

1. Joseph A. Schumpeter / [Option ID = 12288]
T STaHS
2. Larry Diamond / [Option ID = 12287]

GHE fora
3. Juan Linz / [Option ID = 12286]

w T

4. Robert Dahl / [Option ID = 12285]

Correct Answer :-

THE T IEER

« Joseph A. Schumpeter / [Option ID = 12288]

53) Who among the following suggested that ,nationalism can be attributed to the rise of the industrial age”?

rafaf@a # & s 75 7o % ' Tgar 1 3ie@fF 397 & 359 F Wy st ST FFAT § ' ? [Question ID = 26118]

1. Liah Greenfeld / oI [Option ID = 44468]
Ty Ry
2. Anthony Smith / [Option ID = 44469]

e Ta
3. Ernest Gellner / [Option ID = 44467]

4. Donald Horowitz / \ [Option ID = 44470]

Correct Answer :-

HAwE T
o Ernest Gellner / [Option ID = 44467]

54) Who among the following said, “caste system is not merely division of labour, it is also division of labourers.”?

@ & ¥ fFuer 38 w1 F iy caavar b 49 F1 Qs 7981 &, a8 4fAF1 &1 oft fasn=iar €17 [Question ID = 26130]

1. Jyotiba Phule / © [Option ID = 44518]

1 AN JESHY _

2. B.R. Ambedkar / [Option ID = 44517]
RlEE IR

3. Savitribai Phule / [Option ID = 44516]

T . T

4. M.K. Gandhi / [Option ID = 44515]

Correct Answer :-

41 ¥R JEESEY _
« B.R. Ambedkar / [Option ID = 44517]

55) Who among the following used models and assumptions drawn from economics to analyse political behaviour?



frfefag # 9 frad Iofie @9eR &1 Jgdied &9 & fog spfes & Aisa i ARt &1 gwE
fean?
[Question ID = 26120]

1. Anthony Downs / Tt 3T3+& [Option ID = 44477]
2. S.M. Lipset / Tg. T#. forcfic [Option ID = 44476]
3. J.M. Keynes / 1. TH. FI= [Option ID = 44478]

4. Robert Dahl / I19€ STef [Option ID = 44475]

Correct Answer :-
« Anthony Downs / T2 3138 [Option ID = 44477]

56) Who among the following laid stress on the “imagined qualities of nationalism”?

Frferitad o 9 | ugae & wfeud o 9w ge faar?

[Question ID = 3064]

dfgaT deveA
1. Benedict Anderson / [Option ID = 12255]

Er. T
2. E. Hobsbawm / [Option ID = 12256]

A e
3. Ernest Gellner / [Option ID = 12253]
29 HigT
4. Hans Kohn / [Option ID = 12254]

Correct Answer :-

ERIEERNETS ]
« Benedict Anderson / [Option ID = 12255]

57) Who among the following wrote the classic essay, “Science as a vocation”?

efofeg 4 9 foms wfas fAey s U9 o gigse fawar ean?

[Question ID = 3063]

AT 99
1. Max Weber / [Option ID = 12249]

el fedlt _
2. Charles Tilly / [Option ID = 12252]

3. Sidney Tarrow / [Option ID = 12251]

ERUEE R
4. Ira Katznelson / [Option ID = 12250]

Correct Answer :-

AT a9 _
« Max Weber / [Option ID = 12249]

58) Who among the following states, “"Public policy is whatever governments choose to do or not to do"”?

fefafag 4 @ foas o8 @eT & 19 e i 39 90 @ 99t 2 5 TRoR &1 &1 @ HOdr $l B,
AR T 92T T B DA Fl B

[Question ID = 3056]

41 Ty died
1. B.Guy Peters / [Option ID = 12221]

T AR T8
2. Thomas R. Dye / [Option ID = 12223]

efag g

3. David Easton / [Option ID = 12222]

EIERET

4.Y. Dror / ; [Option ID = 12224]

Correct Answer :-



o9 IR, TE
« Thomas R. Dye / [Option ID = 12223]

59) Who among the following scholars conceptualises Indian constitution as a ‘seamless web'?

frafafe 3 & fra Regae & s @i $ gweva ‘wAfFa @oma’ (@ 39) % 37 # 1 §2 [Question ID = 26095]

1. Subhash Kashyap / HTY &334 [Option ID = 44378]
2. D. D. Basu / 31. 31. 5 [Option ID = 44376]

3. Granville Austin / 3o 31T [Option ID = 44377]
4. M. V. Pylee / TH.4Y. 9rgelr [Option ID = 44375]

Correct Answer :-
« Granville Austin / 3=Tfder 3iif€esT [Option ID = 44377]

60) Who among the following described India as quasi-confederacy?

frefafaa & 9 fogs urRg & 9viF sg—uRdg & 39 F fear?

[Question ID = 3014]

1. Granville Austin / ) [Option ID = 12055]
2. W.H.Morris Jones / [Option ID = 12056]

%, I ERR
3. K.C. Wheare / [Option ID = 12053]

AR R
4. Myron Weiner / [Option ID = 12054]

Correct Answer :-

& ¥l
o K.C. Wheare / [Option ID = 12053]

61) Who among the following questioned the claim that Public Administration is a science?

foeafafaa & o f5gs 39 T & yeied foar 6 Fie Torad s fagme 27

[Question ID = 3053]

Td. afd®

1. L.Urwick / [Option ID = 12211]

e

Bd [EAl3

RR

3. Luther Gulick / [Option ID = 12209]
B

4. Robert Dahl / [Option ID = 12210]

2. Frank Goodnow / [Option ID = 12212]

Correct Answer :-
I
« Robert Dahl / [Option ID = 12210]

62) Who among the following introduced the concept of ‘Zone of indifference’ in an organisation?

frafaf@a & & fre ereer # ‘serfierar & & i TR Y YEIATT HY [Question ID = 26116]

1. Chester 1. Bernard / e

2. Chris Argyris / fpa smffe [Option ID = 44461]

AT

3. Douglas Mcgregor / 2 [Option ID = 44462]
EECCERIELn]

[Option ID = 44459]

4. Herbert Simon / [Option ID = 44460]

Correct Answer :-

e Chester I. Bernard / e E [Option ID = 44459]



63) Who among the following is not a liberal thinker?

for=iforfiag & @ @19 v SeNaE! fHige =81 27
[Question ID = 3084]

1. Michael Doyle / T = [Option ID = 12335]
WIp T

2. Stephen Walt / [Option ID = 12333]

S S gBE

3. G. John Ikenberry / [Option ID = 12336]

fae Fiee

4. Robert Keohane / [Option ID = 12334]

Correct Answer :-

e M |
« Stephen Walt / [Option ID = 12333]

64) Washington Consensus refers to:-

qIfETes AHEsAfT Faed © -
[Question ID = 3092]

1. The ten point neo-liberal guideline to liberal economic reform for development around the world /
T 3 F e @ forw SenaE! anftfes WR 9 IR § T—verad! -y 9 =w fig
2. The ten point neo-liberal guideline to liberal economic reform for development in Europe /
T # e & oy Serae! anfdfe @R ® an § Ja—sanae] fRen—-fe @ 59 fig

3. The ten point neo-liberal guideline to liberal economic reform for development in the USA /

quay F faerd & o Serard! anfdfe R © I8 | J9-genad] Rm—fEy © 29 iy
Tuded | | SIg 8l

4. None of these / [Option ID = 12368]

[Option ID = 12367]
[Option ID = 12366]

[Option ID = 12365]

Correct Answer :-
« The ten point neo-liberal guideline to liberal economic reform for development around the world /

W gfren A fe @ R Saward siitfe guR % AR § To-ssard Rar-fRa @ w0 Ry o0 1067

65) The emergence of Public Administration as a discipline is associated with which of the following:-

UH FEE & BY H olld YR &1 9ed FrEfeiE | 9 fead o g @

[Question ID = 26114]

1. American Society of Public Administration / 3@RiereT TIATILY 3% Tieelsh TsTATAELYST [Option ID = 44451]
2. Indian Institute of Public Administration / 737+ ¥Erege 3ifth ufSers TsTRATAELYE [Option ID = 44454]

3. Minnowbrook Conference / ﬁ!ﬁ-ﬁ'g? SR [Option ID = 44453]

4. Comparative Administration Group / #Rfed TsfAfaregers 7 [Option ID = 44452]

Correct Answer :-
+ Minnowbrook Conference / f==isje sith& [Option ID = 44453]

66) Which of the following is not true of Rousseau?

vl & gN H et 5 @ 921 v T2l 2?

[Question ID = 3031]

1. He wants to reconcile liberty with sovereignty / d i B W g
2. Sovereignty originates in people and gets transferred to ruler /

FYHT A 9 Seg= Biedl 8 SR e $ urd gveidiNg g1 Wil 8 [Option ID = 12123]
T g=9T gaen B Afge vu @ wEy Bt @

3. General Will is always morally right / [Option ID = 12124]

[Option ID = 12122]




d WAl BT APRICAS §IcHI9 Td B &

4. He holds a positive view of liberty / ) E-} [Option ID = 12121]
Correct Answer :-

« Sovereignty originates in people and gets transferred to ruler /

W A W S BNl @ SR wred @ e e & o [Option ID = 12123]

67) Which of the following is not true of Marx’s view of the state:-

frfafag & 9 & a1ed & w0 & ol & ar o w9 A8 &

[Question ID = 26106]

1. The proletariat will need to capture state power / TIgRT &Y IT TcdT U Feall =T @191 [Option ID = 44422]

2. The state is an instrument of class exploitation / I 3T MU &T T = § [Option ID = 44420]

3. The state is necessary for resolving class conflict / g7 TEY T gef [AehTelet & foIw T 3TaeT § [Option ID = 44421]
4, The state will wither away / IsT €R-4fk @cH & S9m [Option ID = 44419]

Correct Answer :-
« The state is necessary for resolving class conflict / @37 TEY T gl fATelet & ToIT AT 3MTa2TH § [Option ID = 44421]

68) Which of the following is not the basic principle of Hans J. Morgenthau’s Realism?
ARl # & i ¥ o, Avfeurs & gurdarg w1 gfaard Rgia #2 [Question ID = 26121]
e , oIy wHifEe AEE et 9 i =
1. Politics is governed by universal moral values. /
o waTae s 2

2. Politics is autonomous / [Option ID = 44480]

Iy AFa uefy § fAfge ekl 2
3. Politics is rooted in human nature / [Option ID = 44479]

wsiE fBd ot it © wWed A ofeafia faar wmr 8

4. National interest is defined in terms of power / [Option ID = 44481]

[Option ID = 44482]

Correct Answer :-

IS wEEifEe Afae e w g BT
« Politics is governed by universal moral values. / % S e [Option ID = 44482]

69) Which of the following treaties ended the thirty years war:-

fraforfan # © 5w wRsiid 9 o 9dia g5 &1 99 ga 7
[Question ID = 26123]

1. Peace of Westphalia / a&ethforar T enifa [Option ID = 44488]
2. Treaty of Vienna / TaZ=r r @& [Option ID = 44490]

3. Treaty of Utrecht / g¢ere 1 f& [Option ID = 44487]

4, Treaty of Versailles / 3@ T Tf&r [Option ID = 44489]

Correct Answer :-
« Peace of Westphalia / a¥ethforar & nifa [Option ID = 44488]

70) Which of the following pacts resulted in a compromise between Ambedkar and Gandhi on the issue of separate electorates?

g% fafas dAsa & 72 W s AR et & i qasla & FRor Fi @1 dee @ 3ma? [Question ID = 26129]

1. Lahore Pact / &gk tare [Option ID = 44512]

2. Lucknow Pact / e@=13 tare [Option ID = 44513]
3. Delhi Pact / feeely S [Option ID = 44511]

4. Poona Pact / 9&T dee [Option ID = 44514]

Correct Answer :-
+ Poona Pact / G&T Yere [Option ID = 44514]

71) Which of the following is not included in the list of essential elements (Prakriti) of a state as identified by Kautilya?

frrafaf@a & & 5 FiteT qamr sar 7= v T gl et (v ) A e F afFafaa ¢ far srar € 2 [Question ID = 26126]

w3
1. The minister / [Option ID = 44500]



q—87 3N gHST T

2. The territory and its population / [Option ID = 44501]

3. Nationalism / [Option ID = 44502]
Q \F

4. The ruler / [Option ID = 44499]

Correct Answer :-

« Nationalism / [Option ID = 44502]

72) Which of the following does not constitute a central idea of the , Instrumentalist” school of ethnicity?

Pt # i STdTar & dary (FrsdefiTe) The #1 Hda RaR 82 [Question ID = 26119]
T " T Y e . 3 8 [Option ID = 44472]
I IeE wenl $ Wed BN 39 UP oK f&adr 2

2. Is shaped by the ways political institutions are designed / [Option ID =
44474]
3. Is neither inherent in human nature nor intrinsically valuable /

gg 9 °l AFe ygfd d wfHiEa siar € &R 7 81 aifcae 9 | Hegdd sl g

TE AEAF T &7 e
4. Is a construct of the modern epoch / £ Al [Option ID = 44473]

1. Is based on ,shared blood” and ,shared ancestry” /

[Option ID = 44471]

Correct Answer :-

EalE GG s o el e AR el BRG]
» Is based on ,shared blood” and ,shared ancestry” / = £y e 3 [Option ID = 44472]

73) Which of the following is not a feature of Ram Manohar Lohiya”s concept of , Sapta Kranti”?

RArafaf@d & @ wia T AR OfRar fr acd Fwifa” Y [dvar € § ? [Question ID = 26128]

1. Violent revolution / [Option ID = 44510]

wfeam @1 9

2. Emancipation of women / [Option ID = 44509]
3. Abolition of caste / £ 5 [Option ID = 44508]

H H i EI .
4. Economic equality / [Option ID = 44507]
Correct Answer :-

fBas wifa
« Violent revolution / [Option ID = 44510]

74) Which of the following statements is not true of Hobbes?

Bed & IR H FAfafad ¥ 9 &9 91 ®F 9 T8 8
[Question ID = 26104]

1. There is no occasion for disobeying the sovereign / H53] T 3TAT UTeleT o &el &1 HIs AT w761 61l & [Option ID = 44413]
2. Sovereign is a product of a pact / &3] Teh FHEI & Scdea1 g & [Option ID = 44412]

3. Sovereign must be absolute or nothing / Fu8y AT & 3/ 1T & IT He oY 8T gl & [Option ID = 44414]

4. Law is command of the sovereign / #TefeT €98 T 3 & [Option ID = 44411]

Correct Answer :-
+ There is no occasion for disobeying the sovereign / 9] T JT=AT UTeleT o &e1 T IS HEHT 81 &1 & [Option ID = 44413]

75) Which of the following statements best describes the scientific character of Comparative Politics?

frefafas 7 § &9 T FF goe Ao @ a1 aRE &1 Hed =] a8 avia $ear 87

[Question ID = 3050]

1. Comparative political analysis is basically reducible to ideology and opinions /

e e favetaer gl $u | foamurr ok fa=mt 4 gemm o @@ 8

[Option ID = 12200]



2. Comparative political analysis is a type of science that probably cannot produce knowledge of the same degree of certainty as in the physical
sciences /

Qo ol [avetyvr fag™ &1 te 0T yaR 2 @ ue Hifte fagm &1 Miteaar @ @ &1 99

I TR BY FHal &
[Option ID = 12198]
3. Comparative political analysis is a non-explanatory mode of science /

oIS W fageer fagm @1 - g 2

[Option ID = 12199]
4. Comparative political analysis is just like the physical sciences in its ability to produce certain knowledge /

oS o lfos g Hied §H 39~ & @ A 9 Hifas fasm &1 owe 2

[Option ID = 12197]

Correct Answer :-
« Comparative political analysis is a type of science that probably cannot produce knowledge of the same degree of certainty as in the
physical sciences /

qeTHS o fageyer fas &1 s 9 yeR 2 W ue Aifve fasm @) ffEea @ 'R a1 9=

IO 21 B Hhal &
[Option ID = 12198]

76) Which of the following statements are correct with respect to the Global Commons:-

i. These are areas not under sovereign jurisdiction.

ii. They have an environmental dimension.

iii. They are owned by nation-states.

iv. The high seas, deep ocean floor and outer space come within this category.

e BFE ® TR | FEfafies 4 9 o 9 w5 wg 8°
i %3 89 § o 9] & Afer—da § T8 §
ii. ST UH TAfaveiEg S B
111. 9 W IS—IST] BT i

iv. T THE, e WS 9 AN e Wi 59 S e @
[Question ID = 3089]

e 1, 1 ety
1.i,iiand iv only / [Option ID = 12354]
e 1, 11 &t il
2. i, ii and iii only / [Option ID = 12355]
1, 11, 111 3= 1v
3.4, ii,iiiand iv / [Option ID = 12353]
_____ fa 11, 111 3R 1v

4. ii, iii and iv only / [Option ID = 12356]

Correct Answer :-

o faw 1, iy
e i iiandivonly/ [Option ID = 12354]

77) Which of the following propositions is not found in Classical Realism?

Felfvreel gumRfare & fA=ifafag § @ =9 9o e i @rar 27

[Question ID = 3081]

. « : _
1. The structure of international politics is anarchic /S0 13 WS 11et 1 LT SISTH & [Option ID = 12324]

; T W-fRT B SRR WS B E [orion 1p = 12323]
fag ®T Aggmen & feg © 92 # g fear e &

3. The concept of interest is defined in terms of power / [Option ID =

12322]
werify @ Freml #1 g A vty F Bife S R 2

4. The laws of politics have their roots in human nature / b
12321]

2. States act on the basis of their self interest



Correct Answer :-

« The structure of international politics is anarchic / X § 2 @1 < ? [Option ID = 12324]

78) Which of the following propositions is not given by the theorists of Complex Interdependence:-

vifee saf-Hvar & fusiaen g F=fefiag § | o9 w1y =81 faar war & -

[Question ID = 3080]

Fi g e & HEf § 9ewi &1 e

1. There is an absence of hierarchy among issues of international politics / [Option ID

= 12319]

FeerTg v | S wifde B 9gg wie qiEer wid

2. There is a minor role of military force in international politics / [Option

ID = 12320]

- WS TF QB Tl B
3. The state is a unitary actor / [Option ID = 12317]
fafee wmd @ w9 92 B

4. Multiple channels connect societies / [Option ID = 12318]

Correct Answer :-

R Hl ©
« The state is a unitary actor / [Option ID = 12317]

79) Which of the following authors gave the concept of the ‘Tragedy of Commons’:-

fforfiag # | foa g o “aen &) e (SRl ofe $iA=E) &1 SaRoT Td $17

[Question ID = 3085]

A GEe
1. Jon Barnett / [Option ID = 12340]

)

EisAcERIC )
2. James Lovelock / [Option ID = 12339]

e sEf

3. Garrett Hardin / [Option ID = 12337]

BT G

4. Carl Sagan / [Option ID = 12338]

Correct Answer :-

e sEfq
« Garrett Hardin / [Option ID = 12337]

80) Which of the following was not a distinctive feature of the dharmasastra tradition in India

for=iforfiaa & & &1 9 # gHeme wow B fatre fagiar =27 2

[Question ID = 3094]

fagmi 7 ofdw &1 vy ok o) @ am seg e g

1. Scholars concentrated on the nature and mechanics of power /
[Option ID = 12375]

2. Scholars of the tradition discussed the sources of dharma / TH W £ aél ° 5H @ Wil B fAdeE @1 _E? [Option ID =
12373]

[ T 3 o L3
3. Scholars provided a detailed prospectus of duties / reg Tl 7wt B U TAW[T PavEl g @g %\

4. Scholars provided a detailed code of conduct covering the entire human life /

g™ & Wl A SE" &I THed T gy = e 99ee &908 §
[Option ID = 12376]

[Option ID = 12374]

Correct Answer :-

gt 7 ofad &1 ugpfa ok o w = afeg G 2

« Scholars concentrated on the nature and mechanics of power /
[Option ID = 12375]



81) Which of the following is true:-

for=iforfiag & & @19 91 2 99 & -

[Question ID = 26124]

1. Both globalists and skeptics believe that the states are losing their power in the globalized world / Rasardy 3R Tegard!- alr & AT & &
el Taed # T =T Afd @ I8 § [Option ID = 44493]

2. Globalists believe that the role of the state is eroding in the present times / 3Rasardr I AT § & Tt Tt 31 Ao i 91fHT &7 &RoT &
TET & [Option ID = 44491]

3. None of the above / 3TRIFd # & HIS 7T [Option ID = 44494]

4. Skeptics believe that the role of the state is eroding in the present times / HEEaTal AT & [ TcTHTST T 3 T T $1fHHT T &7 8T W &
[Option ID = 44492]

Correct Answer :-

+ Globalists believe that the role of the state is eroding in the present times / 3fRaaaTer o AT § & Tt TFI 7 T HT HfHHT F7 &ROT
&) 78T & [Option ID = 44491]

82) Which of the following level of analysis is not discussed by Waltz in his book Man, The State and War:-

dlecet 7 AT TRI® A9 @ vec 0§ @IV g fAeferad § W fod W &1 fawayer 721 fear 2

[Question ID = 3077]

1. State level / et [Option ID = 12307]

g W (SrEfs @)
2. Dyadic level / [Option ID = 12306]

fea W
3. Individual level / [Option ID = 12308]

QU M &Y
4. Systemic level / [Option ID = 12305]

Correct Answer :-

83) Which of the following is true?

ferferftaa o & w1 W= 27

[Question ID = 26127]

1. Both Gandhi and Tagore regarded nationalism as a menace / a1efy 3R MR- Gt o IsgaTe I Uk s & T 7 ST [Option ID = 44504]

2. Both Gandhi and Tagore advocated the use of charkha / 3TTefY 31X 290R- Sl & TRET & 3TN FT ARBERY I [Option ID = 44503]

3. Tagore disagreed with Gandhi”s programme of non-cooperation / 3R & 3TTell & TGN Fsha T AT STdTS [Option ID = 44505]

4. Tagore supported the use of violence while Gandhi opposed the use of violence in freedom struggle / &% 7 Tad=ar & ToY & BT & 3TIT
T THLT fovar gt il ¥ ar & 3uier &1 favier fRam [Option ID = 44506]

Correct Answer :-
« Tagore disagreed with Gandhi“s programme of non-cooperation / 3R = 3TTel & TGN HITHA T IJFEHATT STaTS [Option ID = 44505]

84) Which one of the following is true about the First World War:-

i. It was the first modern, industrialised total war.

ii. It was fought between 1939-1945

iii. It began between European States and fought on European Battlefields.
iv. It is also known as the Great War.



WM fixg 98 @ 9N ¥ Frefaftag § o9 o 9 59 2 -
i @E gEel S, Jteriiag of 95 o
ii. TE 1939—1945 & d1=8 =T T
iii. 7E gd =i & €@ o9 g3 ok @iy ® &l @ |91 T
iv. 39 9EM g & T9 H 1 WE o B

[Question ID = 3087]

w1, 1 s iy
1.i,iiandivonly / [Option ID = 12348]
1, 11 & il
2. i, ii and iii only / [Option ID = 12345]
o % 1, 11 siv 1v .
3.1, iiiand iv only / [Option ID = 12346]

1, 11, 111 S Iv
4.1, ii, iiiand iv / [Option ID = 12347]
Correct Answer :-
o e 1, 111 3t v _
e i, iiiand iv only / [Option ID = 12346]

85) Who gave the ‘domino theory’ about the geopolitical consequences of the victory of Vietminh during the cold war:-

T gg & 992 faafes 1 o9 & S=Teritos Toml & a9 | S frgte e
[Question ID = 3078]
ERIERCIEE
1. Bernard Baruch / [Option ID = 12311]

WS e
2. Joseph Stalin / [Option ID = 12310]

Tty FEE
3. President Kennedy / [Option ID = 12309]
. . ; l E‘u [ .
4. President Eisenhower / [Option ID = 12312]
Correct Answer :-
Irecafe AeETaY
» President Eisenhower / [Option ID = 12312]

86) Who first described Congress hegemony in India in terms of one-party dominance?

[ Ugdl [d ARA H BIUE & 99w &I Ud—ad i U & vU H afvig fear?

[Question ID = 3015]

s

RIS ECIRS!
1. Paul Brass / [Option ID = 12060]

eI L Y
2. James Manor / [Option ID = 12059]

T BISNT

3. Rajni Kothari / [Option ID = 12057]
4. LRudolph& S. Rudolph / 5¢1- PSIeH 3R TH. TSIFF  [option ID = 12058]

Correct Answer :-

T DI

» Rajni Kothari / [Option ID = 12057]



87) According to Foucault power-knowledge relationship is:-

Bl & IR, da—o & GaT & @9 9T § ¢
[Question ID = 3091]

1. Independent / [Option ID = 12361]

TRITT # 9 ®Ig T8l
2. None of these / [Option ID = 12364]
i = C" oo
3. Mutually Constitutive / TR R [Option ID = 12363]
4. Contradictory / [Option ID = 12362]

Correct Answer :-

i = C" o
« Mutually Constitutive / TSR el [Option ID = 12363]

88) According to the “Hind Swaraj” the major obstacle to Indian Self-government is:-

‘fiT WIS @ AR YRAY WU @ R H e ar @ §

[Question ID = 26110]

1. British Government / fsifesr @& [Option ID = 44436]

2. Extremist politics / 31faaTéy Tsieiifa [Option ID = 44437]

3. Indian elites / R 37f&sTeT [Option ID = 44438]

4. Sectarian Nationalism / T eI Irsgare; [Option ID = 44435]

Correct Answer :-

+ Sectarian Nationalism / HepfereT Irsgare; [Option ID = 44435]

89) According to Kautilya ,Danda” is the symbol of:-

sifees & @ @r <% T 2 ¢

[Question ID = 3102]

1. Discipline / [Option ID = 12408]
2. War / [Option ID = 12405]

=a
3. Punishment / [Option ID = 12406]

: T .
4. Sovereign / [Option ID = 12407]
Correct Answer :-

« Discipline / [Option ID = 12408]

90) According to Pradeep Chhibber, “weak associational life” in India results in:-

T et & AR R F "FHIR Heardicatsh shdeT” FT Acion feafarad & & B 39 7 @rFer 3mar ¢ [Question ID = 26100]

RS Yol &1 Fogd]

1. Consolidation of social capital / [Option ID = 44397]
g nfaefae Ty
2. An activist State / [Option ID = 44395]
3. Fragmentation of the party system / c TqRIT BT 498 [Option ID = 44396]

ERICICHE G q gedmg
4. Change in electoral law / [Option ID = 44398]

Correct Answer :-



Tk T Y
« An activist State / [Option ID = 44395]

91) According to L. Rudolph and S. Rudolph, caste in India fosters democracy for all of the following reasons except one.
Identity the exception.

Td TS AR TH BSleh & FTER, WNd d oy Fefafea § 9 e 1 sigey v sRen |
= B geTar el 2| SUdrE B ugEE Hifer |

[Question ID = 26099]

1. Produces a new set of caste leaders / STfel A3 T Ueh AT HHE AR A & [Option ID = 44392]

2. Ensures affirmative action policies by the state / Ts3 GIRT HehRIcH FHIaTS Y ANferdl s AT Tl § [Option ID = 44393]

3. Makes caste a sacred rather than a secular entity /STTfcl T ¥eRk & S gfad Fegg & gRafeid T clt & [Option ID = 44394]

4, Tt capacitates a politically illiterate mass electorate to organise / Ig ISTeilTcieh ¥T I TATER AJGIAT3T & 93 TFTH P TITST gleT T &THAT TeTeT
T § [Option ID = 44391]

Correct Answer :-
+ Makes caste a sacred rather than a secular entity /STfel @7 dgFeR & Foirg 9faT Fogg & gRafeid 2 & & [Option ID = 44394]

92) According to Aristotle, the state is the highest association because:

IR, B SIER, TG UF Hared dead (THfETeE) € #9ife

[Question ID = 26102]

. it aims at moral fulfilment of citizens / ST T&T AR 1 sifcah qUIAT BT & [Option ID = 44405]
. it ensures economic self-sufficiency / Ig 3TeH-fA$RAT GRATSTT F:elm & [Option ID = 44403]

. it undertakes distributive justice / Ig fIaRUTcHS =TT ST HTH HT & [Option ID = 44406]

. it possesses sovereignty / & UTH HYIecT 8Icl & [Option ID = 44404]

A WN =

Correct Answer :-
« it aims at moral fulfilment of citizens / $HeT TT&<T ATTNET T AAfcies JoUTAT gIa & [Option ID = 44405]

93) The terms ‘Command Polity’ and ‘Demand Polity’ were coined by which of the following political thinkers:-
Prfaf@d # & fFE Toreifas aRe F 'l awe (FA1E q9ifad) 3K AT aae (A7 gifeed) erearae) FT Jad g8 39T fFar 82

[Question ID = 26097]

1. Francine Frankel / $F&ta $haheT [Option ID = 44384]

2. D. L Seth / 31, TeT. &3 [Option ID = 44383]

3. L. Rudolph & S. Rudolph / Tel. ¥afew 3R Td. $8Tew [Option ID = 44386]
4, Rajni Kothari / TT=ir IGRT [Option ID = 44385]

Correct Answer :-
« L. Rudolph & S. Rudolph / Tel. T8Tew 3R . F8few® [Option ID = 44386]

94) The Saptanga theory of state is described in which of the following texts?

oy &1 g fagla fferfaa # 9 fow gwe § affa 27
[Question ID = 3041]

FTEHOT
1. The Brahmanas / [Option ID = 12162]

fero epsferr gRror

2. The Visnu Dharmottara Purana / [Option ID = 12161]
3. The Arthasastra / ST [option 1D = 12163]

FIREEan!

4. The Digha Nikaya / [Option ID = 12164]
Correct Answer :-

« The Arthasastra / <212 [option ID = 12163]



95) The Ninth Schedule to the Constitution was added by which of the following amendment:-

Frafaftad Sarm g |faum J J1d7 o RE ®1 Wil T4
[Question ID = 3013]

EECIREHIEE
1. First Amendment / [Option ID = 12050]
2 B
2. Tenth Schedule / [Option ID = 12051]
o s

3. Seventeenth Schedule / [Option ID = 12052]

4. Fourteenth Amendment / [Option ID = 12049]

Correct Answer :-

« First Amendment / [Option ID = 12050]

96) The theory of "just war” can be attributed to which of the following:-

o N o N e

frr=iforfad # & fes “~oeTd 48 &1 fagid ooy fear?

[Question ID = 3070]

1. Immanuel Kant/ 03991 @1 rontion 1D = 12278]

w

2. Ole Holsti / [Option ID = 12280]

B9 Tr=me

3. Hans Morgenthau / [Option ID = 12279]
4. Samuel Pufendorf / 7 aAe TBTSIB  (onion 1p = 12277]

Correct Answer :-

. Samuel Pufendorf ; SaSTeT THTSIE [Option ID = 12277]

97) J.Mill's harm principle states that:-

. v, e o aify Rigia Fear ¥
[Question ID = 26105]

1. Prevention of harm to self is found for restricting liberty /

e Bl IHAE Ugar | Udd B [ Waadr U= gfade Jmar o G6dr 8 ,
[Option ID = 44416]
2. Prevention of harm to others is the only ground for restricting liberty /

% a0 AT B HEE UgdH 9 AP & oy Waaar W gfodd FmEn @1 96 5

T 1 ¥ TvE W g5 © S o T8 e ®

[Option ID = 44417]

3. There are no purely self-regarding actions / [Option ID = 44415]

TURTaT T

4. All of these / [Option ID = 44418]

Correct Answer :-
« Prevention of harm to others is the only ground for restricting liberty /

o om0 A 7 THEH TA W e 3 forn e 9 it e o wad & [Option ID = 44417]

98) The notion of "Administrative man” was coined by:-

“garafAE giFd” 1 FTUROT FI 714T: [Question ID = 26113]



Had A9

1. Max Weber / [Option ID = 44447]
2. Dwight Waldo / = e TS [Option ID = 44450]
Aed] Th. Soie
3. Charles F. Taylor / [Option ID = 44448]
HIgHA
4. Herbert Simon / [Option ID = 44449]
Correct Answer :-
. SIECE B
* Herbert Simon / [Option ID = 44449]

99) Who is the author of the book, “Silent Spring” ?

“gTgeie T fFae & @+ i § ? [Question ID = 26131]

A B
1. Rachel Carson / [Option ID = 44519]

T

ellg
2. Naomi Klein / [Option ID = 44520]

3. Henry A. Kissinger / i [Option ID = 44522]

TS SOEYE
4. Jared Daimond / [Option ID = 44521]

Correct Answer :-

T BT
« Rachel Carson / [Option ID = 44519]

100) Makkali Gosala belonged to which of the following traditions of Indian thought?

HabTel! Mt frefeafaa & @ ardg fRiaa @) feg odowr & defaa 27

[Question ID = 3039]

1. Determinism / [Option ID = 12155]

- Hifaeare .
2. Materialism / [Option ID = 12156]

e

3. Jainism / Gﬁ [Option ID = 12153]
4. Buddhism/ 918 T [option ID = 12154]

Correct Answer :-

e

« Jainism / ﬁ [Option ID = 12153]



